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BECZZET A= — IR OME IR (FEH)
(Mt 3)
BmE BmE
2 S S e 2222

+ZHA=Z+—AIk AHZTHIE

aWIN BRG] g DEE ]
Bk T T

BEH 5 2,745,083 1,912,913
FAtls sz 5 44,328 32,379
R BCE e 2 R 51,928 45,569
B LA 6 (725,114) (455,990)
A EEMRL 7 B8 AR (749,182) (439,634)
GRS E53) (209,798) (125,971)
g K s 3(e)v) (130,458) (90,183)
JE 5 KB (48,467) (42,730)
FiAt A€ BH L 3(d)(iv) (226,859) (154,279)
CREca=c/Ewd i (40,678) -
R W B T 3(e)v) X 6 (95,933) (22,657)
WEEHRIBEMN 6 614,850 659,417
g 7 (1,020) (1,564)
wEEM 613,830 657,853
JREAG W5 2 ) 22 8RBl 1R 10,200 7,038
JREAk e ] 2 ) £ 2 1 (15,857) (3,184)
B3B8 iy 28 ) 608,173 661,707
i IH 9 (118,363) (97,927)
B Bef% 2 A 489,810 563,780
D BB R A A 3(d)(v) (7,017) (1,206)
JBe R AN 28 A 3(e)(v),10 & 25 482,793 562,574
1358 11 572,367 519,742
HEBAA 12

A 27.85 il 32.49ll
e 27.84 il 32.471ll
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